Calculate the energy change when 10.0g of ice
at -15.0°C is heated to steam at -5.0°C.
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Calculate the energy change when 10.0g of ice
Is converted to water.
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Calculate the total energy change when 10.0g of ice

at -15.0°C is heated to steam at 105°C.
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mCAT = - mCAT
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32 x-3) = - (D x-2)
by-1€ = ~x+ 8
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8.50 g of NaCl is added to a simple calorimeter containing
150.mL of water at 21.6°C. The temperature of the water
increases to 23.8°C. Determine the molar enthalpy of solution.
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A 160. g block of copper at 85.0°C is added to a simple
calorimeter containing 75.0 g of water at 21.0°C. What is the
final temperature of the solution?
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